2 digit addition (with and with no regrouping)

Add the numbers and write down the correct answer
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1 ., 52 2 . 83 3 . 79
92 60 85

™ ™ ™
4 L 45 3 + 46 9 L 80
41 45 91

- P > 5 J

Y Y

7 L. 79 ) . 40 9 . 66
92 53 27

™ ) ™
@ i 49 I_IJ + 36 I—EJ g 91
63 04 74

™ ™ '
13] . 68 14) . 87 1] L. 75
66 75 89

™ ™ ™
16) . 36 17) ., 63 18] . 60
65 59 79




Ritge/uaw. shinomath_som,
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q ., 52 2 ; 8 3 . 79
92 60 85
144 143 164
' 4 ™
4 o 145 3 . %6 9 , 80
41 45 91
86 o1 171
™ ™ ™
7 L, 79 8 L 40 9) , 66
92 53 27
171 93 93
™ ™ '
10f . 49 1y . 36 12 o Gl
63 94 74
112 130 165
™ ™ 4
13 , 68 14 i 57 13] v 15
66 75 89
134 132 164
™ ™ ™
1¢) . 36 17 ., 63 18] . 60
65 59 79
101 122 139




